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1. Given the following sets, build the set prompted.

A = { a, b, c, d, e }
B = { a, c, e, g, i }
C = { d, e, g }
D = { f, g, i }

1. A ∩ B { a, c, e }

2. A − (C ∩ A) = A − { d, e } = { a, b }

3. B ∪ C a, c, d, e, g, i

4. A ∩ D ∅

5. (A ∪ B) − (C ∩ D) { a, b, c, d,e, g, i } − { g } = { a, b, c, d, e, i }

2. Express the following formally:

1. A is a subset of B A ⊆ B

2. x is a member of A x ∈ A

3. The intersection of A and B is C A ∩ B = C

4. The union of A and B is C A ∩ B = C

5. The complement of A in B is C B − A = C

6. The intersection of A and the empty set is A A ∩ ∅ = A

3. Given the following set relation, answer the questions (note, there are no typos)

• A ∩ B = A

• C ∩ ∅ = A

• D ∪ A = E

• F ∩ B = ∅

• F ∩ D = E − C

• D 6⊇ F

• F ∩ E = F

1. E − C = D

2. B ⊆ A

3. F ∪ D = E − B


